THURSDAY MATHS - CHALLENGE
REASONING AND PROBLEM SOLVING -

Write these prices in order, starting with the smallest.
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Dev has five coins.
He has £1.60 altogether.

Write what the five coins could be.

He has £2 in coins.

He uses these five coins to make the call.

How much money has he got left from the £27




Annie has a £2 coin.

Sam has these coins.
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How much more money does Annie have?

7b. A lolly costs 107p. George buys 2
lollies. He gives the shop keeper a £5
note.

e
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5p coin and four 1p coins.
o

The change will be one £2 coin, two
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The change will be 28é4p.
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Which is correct? Prove it.




